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I. Read the passage and answer the following questions:

WHERE HAVE ALL THE SPARROWS GONE?
(1) They were once everywhere. Chirping and flapping their wings at the window sills, on top of
cupboards, and on the branches of trees. Where have all the little sparrows gone? This is the most
frequently asked question about sparrows these days.
(2) The association between humans and house sparrows dates back to several centuries and no
other bird has been associated with humans on a daily basis like the house sparrow. It is a bird
that evokes fond memories of childhood. The nests of sparrows dotted almost every house in the
neighbourhood as well as public places like bus stands and railway stations, where they lived in
colonies and survived on food grains and tiny worms.
(3) A study conducted by the Andhra University, Vishakhapatnam, highlighted the fact that the
population of sparrows had fallen by over 60 per cent even in the rural areas of coastal Andhra
Pradesh. A survey conducted by the British Trust for Ornithology showed that the house sparrow's
population in Britain has declined by about 510 per cent since 1970.
(4) Certainly, there is no single reason for the decline of the house sparrows. Mobile tower radiation
and excessive use of chemical fertilizers are aggravating the problem and have been identified as
potent sparrow Killers.
() It is said that sparrow chicks, which require insect food for their survival in their early days,
have not been getting adequate supply from their parents. This has triggered large scale death of
chicks, leading to a gradual decline in their population.
(6) Urban landscape too, has been dramatically altered over the years. No longer are sparrows able
to find the tiny nooks, crannies, and holes where they used to build their nests.
(7) Typically, sparrows were never an issue of concern for us with their diminutive presence in our
household. Perhaps, it is this diminutive presence because of which even their gradual
disappearance has gone unnoticed. Mohammed Dilawar is rightly called the Sparrow Man of India
as he has been successful in drawing the attention of the world towards the declining number of
house sparrows.
(8) House sparrows are an important bioindicator and their decline is a grim reminder of the
degradation of the urban environment and the danger from it to the humans in the long run.
a) What is the most frequently asked question about sparrows these days?
b) A survey conducted by the British Trust for Ornithology showed that:
(i) house sparrows evoke fond memories of childhood
(ii) there is no single reason for the decline of the house sparrows
(iii) chemical fertilizers are aggravating the problem and have been identified as potent sparrow
killers
(iv) house sparrows' population in Britain has declined by about 59 per cent since 1970
c) Which of the following definition explains the term 'bioindicator'?
(i) The species which have beaks and wings, and are sensitive to pollution.
(ii) The species which reveal the health of the natural ecosystem.
(iii) The species which reveal the presence of toxic pollutants in the environment.
(iv) The species which are on the verge of extinction.
d) Who is referred to as the “Sparrow man of India “ and why is he given this title?
e) What factors are identified as sparrow Kkillers in this passage?
II. Fill in the blanks with the correct form of the verb given in brackets.

Last Sunday, my family and I (1) (decide) to visit the zoo. We (2) (wake) up early
and (3) (get) ready by 8 AM. My father (4) (drive) us to the zoo, which (5)
(be) about 20 kilometres away. On the way, we (6) (see) many interesting things. When we

(7) (reach) the zoo, we (8) (buy) the tickets and (9) (enter) the park. The



first animal we (10) (see) was a giant elephant. It (11) (eat) a large bundle of

bananas. Next, we (12) (move) to the tiger’s enclosure. The tiger (13) (sleep) under
a tree, but it suddenly (14) (wake) up and (15) (start) roaring. It (16) (be)
both thrilling and frightening. After a few hours, we (17) (feel) hungry and (18)

(decide) to have lunch. My mother (19) (prepare) some sandwiches, which we (20)

(eat) under a big tree. It (21) (be) a wonderful day spent with nature.

III. Convert the following sentences into indirect speech:
. He said, "I am happy today."
. She said, "I have been waiting for an hour."
. They said, "We will attend the meeting."
. He asked, "Are you coming to the party?"
. She asked, "What are you doing right now?"
. The manager said, "We need to finish this project by next week."
. He said, "I can't find my keys."
. The boy said, "I will help you with your homework."
. She asked, "Why did you leave early yesterday?"
10. The doctor said, "You need to rest for a few days."
IV. Change the following sentences into passive voice:
. The chef cooked a delicious meal.
. The children are playing football in the park.
. The teacher is explaining the lesson.
. The company will launch a new product next month.
. The police caught the thief yesterday.
. Who wrote this book?
. Did she complete the assignment?
. When will they announce the results?
. Are they organizing a workshop?
10.Why did they cancel the meeting?
11. Close the door.
12. Please submit the report by Monday.
13. Wash the dishes after dinner.
14. Don’t disturb the class during the lecture.
15. Open the windows to let in fresh air.
V. In each sentence there is an error. Find the error and supply the correction.
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Incorrect Correct
Education is a process which was deemed to (@)
develop desirable qualities with people. (b)
The need of this quality differs by person to (c)
person, place to place but time to time. (d)

Subject: MATHEMATICS
1.Ifx=%,y=_?2andz=i,verifythat
(xx(yxz)= (xXxy)xz @x+@y+2)=x+y)+z
2. Find five rational numbers between § and%
3.An article is marked at Rs 940. If it is sold for Rs 799, then find the discount percent.
4.Find the amount if Rs 2000 is invested for 2 years at 4% p.a. compounded annually.
S.Subtract 4a — 7ab + 3b 4+ 12 from 12a — 9ab + 5b — 3
6. Simplify (x —y)(x+y)+ (y—2)(y+2) + (z—x)(z +x)
7 Volume of a cube is 8000 cm3, Find its surface area.
8.The area of a rhombus is 16cm?2. If the length of one diagonal is 4 cm, find the length of the other
diagonal.
9.Find the value of (4° +471) x 22
10.Simplify and write in exponential form (3% = 38)* x 37
11. Find the value of k if (—=2)¢*! x (=2)3 = (=2)
12. Factorize (i) (x +y)? —4xy (i) x?+6x—16



13. Simplify (4x? — 100) =~ 6(x + 5)
14.15 men can build a wall in 42 hours; how many workers will be required for the same work in 30
hours?
15. The cost of 5 meters of cloth is Rs 210. Tabulate the cost of 2 , 4, 10 and 13 meters of cloth of
the same type.
16. Plot the points and verify if they lie on a line.

A(1,1),B(1,2),C(1,3),D(,4)

Subject: SCIENCE
1.Name a non-metal used in fluorescent lights in advertisement displays.

2. What is galvanizing?

3. Name a liquid metal and liquid nonmetal.

4. What is combustion and what are the conditions necessary for combustion to take place?

S. Draw the different phases of the moon and how many days does it take for the moon to complete
one revolution around the earth?

6. If you shout on the moon, will the sound travel faster or slower than it does on the earth? Why?

7. What are air pollution and water pollution?

8. What is potable water and what is the function of an ultraviolet filter in purifying water?

9. Draw the diagrams of the constellations Ursa Major and Orion and are the constellations

members of our solar system. Why?
10. Why is a spectrum formed by a prism and not a glass slab?
11. Define incident ray, reflected ray and normal.
12. What safety measures can be taken during an earthquake and against lightning strikes?
15. What are the changes observed after the electrolysis of copper sulphate using copper
electrodes?
16. Distinguish between noise and musical sound?
17. Discuss three ways of reducing friction, giving a reason why each work?
18. What is atmospheric pressure? Explain why nosebleeds as mountaineers climb higher?
19.Discuss the problems associated with adolescence?
20. Why do you think adolescents are more prone to drug abuse than young children? Give
reasons.
Subject: SOCIAL SCIENCE
. Write 2 sentences of what you understand about the Appeliate System.
. List 2 reasons why Adivasis are increasingly marginalised.
. How does the Reservation Policy work?
. Do you think the distribution of public facilities in our country is adequate and fair? Give an example.
. Give reasons for the Bhopal Gas Tragedy.
. Discuss the role of any 2 factors influencing population change.
. What is human resouce development?
. Classify industries based o size with examples.
. What are Sunrise industries?
10. Write about Article 15 and 17 of the Constitution.
11. How did the knowledge of ancient texts help the reformers promote new laws?
12. What is Subsidiary Alliance? Explain.
13. Who were Moderated? How did they propose to struggle against British rule?
14. Why did James Mill and Thomas Macaulay think that European education was essential in India?
15. How did the last Mughal emperor live in the last years of his life?
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